
 

ye 2 3

x I y

y f a

f Csc 2 1 3

f ca
2

Algebraic Method f x 2 1 3

y 2x t 3

Swap variables and make y the subject

x 2g t 3
X 3 2g

y f ca
z 2

Exz f x

X 2

Let g
X 2

Swap variables x

y Z

y 2 x ytl
yk 2x ytl

Inverse Functions



y c y 2 1 1

y x l 2 1

y 2 1 1

f x 2
X l

f x x Domain IR
Range IR

f Csc JJ cannot be evaluated
unless domain of tax
is restricted to IRI

FG and fix
f co is a reflection

i otta in teenie y c

Corresponding points on fGc and f ca

have gradients that are the positive
reciprocals of each other

eg 2 and t
Z and a

3 and Z
E and Z



Fg f Cx x f ca Tx

3,9 is on curve 9,3 is on curve

f and gradient at Ba dy f c sit
f GD 2x I

25K
f c 3 2C3

6 Is.fi 9 1
259
I
223
I6

when asked for the gradient of a

complicated inverse function it is sometimes

easier to find the gradient of the original
function at the corresponding point x Cy c

and take its reciprocal Posisitive reciprocal
not negative reciprocal as used in perpendicular
gradients

Important
To have an inverse a function must be l fo

z If tax and f Cx are inverse functions

then the Domain off ex is the RANGE
of f ex

The RANGE of far is the Domain of f Ise



Exercise 2D

Id t x x 7 Range IR

y x 7
Swap x yrs 7

7 y3
HI y f Cx 4

Domain 112
Range IR

I

3 g x a se KEIR so o domain
seek xE4 range

domain and range not identical
so g and g cannot be identical

5 Ecsc x Go 5 x c IR X 5

Let y 22 6 5

swap x j Gg 5

x g 35 5 9
a g 35 4



octa y 37

II y 3 E'Cx 3 57
3 Txt y

7 h x
c

se EIR se 1 2

a Ax x 2 hex 70

Ax x I had e

A x x 2 hex

ha 24 3

h 3 7

Homework Exercise 2D

214,6 8,10


